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{ @ad ) Arab Republic of Egypt QSJE(% o)
Ministry of Education
General Secondary Education Certificate Fxamination — Second Session 2022
{Third Year Secondary]

Statistics Time: 1% hours
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Caliculator is allowed

Choose the correct answer from those given

(HWIfA , B are two events in a sample space of a random experiment
,P(A/B) =0.2,P(B) =04 ,then: P(ANB) =......
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3)If A , B are two events in a sample space of a random experiment

.P(ANB)=03,P(B)=0.5 ,then: P(A/B) =......

(@) 0.3 © 0.4 (© 0.5 (d 0.6

(4) A bag contains10 identical balls, 4 of them are white balls and 6 of them
are red balls. Two balls have been consecutively drawn without replacing.

Then the probability that the two drawn balls are red = ...........
4 9 1 2
@ - O > © - @ o

#(( AEEN dadal b A dghy )y




(7= ) . QL’.E/E('L..:)@U
(5)IfA , B are two events in a sample space of a random experiment S

,P(4) =0.45,P(B)=0.6 ,P(A/B) =0.6,then: P(B/A) =

(6) If the marks of students in a class in mathematics examination follows a normal
distribution whose mean 77 and standard deviation 5 , if one student get 87

marks in this exam, then its standard mark = ................




(&) -4- QE/E (Vo)
(7) If X is a discrete random variable whose range = { 0,1, 2 } and its
probability distribution function is given by the relation

(8) If X is a discrete random variable whose range ={ 1,2,3 }

and P(x=1)=0.3, P(x =2)=0.5,thenP(x =3) = ........
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(9) If the equation of the regression line of y on x is:

y = 0.1x + 2, then the Expected value of y when x =10is .........

@ 1 ), 2 © 3 @ 4

(10) In a statistical study to calculate the correlation coefficient { r ) between
Students' level in Statistics (x) and Mathematics (y) of six students ,
it is found that: ¥ D? = 3.5, where D is the difference between

the order of variables x and vy , then the rank’s correlation coefficientr = .....

(a) 01 O 09 (© -0.1 @  -09
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(11) The strongest inverse correlation coefficient in the following is .........

() 09 O -03 (© 0.2 ) 0.9

(1) IfYx =10 ,¥y=20 ,Yxy =50 ,%x*=30 ,Xy*=90 ,n=5

. then the linear corrclation coefficient between the two variables x, y = .....

@ 1 (D) -1 (c Zero @) 0.5
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(13) If X is a continuous random variable, its density function is:

oo %(x+k),0SxSZ
x ) =

zero o Otherwise

,thenthe valuecof k = ......
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(14) If X is a discrete random variable whose probability distribution function

Xr 0 1 2 3

Fx)) |01 102 [03 |04

............

...................................................................................................................................

(15) If X is a discrete random variable whose range = { 2,3, 4 } then the
probability distribution function is =

------

@ =3 ® fe="2%
© fa) =" D =20
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(16) Ifthe mean of a random variable equals 20, its standard deviation
equal 3, then its coefficient of variation equal ....... %

(17) If z is a standard normal random variable, then

P(z>12)=......

(@) 0.3849 (b 0.1151 (© 09332 (d 04332

U TP UP PSPPSR 7 0.0000
e 1203809
| 13704032
.................................................................................... 14 04192
.................................................................................... 15 0.4332
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